. QUARTERLY EXAMINATION - 2023
CLadS<h " MATHEMATICS ~ Reg-No:[ ]

EhﬂE.:2-30.Hm- R "+ MAX.MARKS: 100
' I Choose the best answer, . o : " 15x1=15
i ? 15a‘rahona]numberwluch]lesbethen .. o

-5 . W i L ;
a) O:andT b) landO : - cj land-2 oo d) -dand -5 -

. .‘2_ The square of 43 ends vnt.h the d1g1t.. ik : ) :
e e N R T SRS
5,y (—2)'3‘>e(¥2)“'*’-:"= Sy ; B e
s il L By e TR S R g

. TheCmHMIm%kofawmwudem ; mhm;ﬁm;Jf-y5: ' gl
3) 900 o i b) 1800 = s, ] ‘_C) 360° d) 2700
3. AI ea ofa quadnlatcral is. ‘ wad Teen p

5 o gy

" a) gxd?‘(hlfhz) ng.p,mts S g T b) —x(h1+h2) 54, units

? %x”—’:‘(a';f") 's.q'ﬁ’msf"; : .-.:"-'d) ;xdlxdz sq. units R

‘6. Ifthe drea ofa"square'is: 36x y then 1ts slde is . : ; .
. a) 6x4y?' ‘_—‘__‘, b) Sx L 9] 6xy U d) _'zey
1 (5, —4)]1esmwmchquadrant'? R : ; C o
o a) First quadrant b) Fourth quadrant c) Thlrd quadrﬂnt d) Second quadrant :

8 If 48% 0f48—64%0fx then X =
: .a)64 b) 56 -

oy c)42 oot d) 36

9. “What i is the markcd price of 4 hat whlch is bought for Rs. 210 at 16% dlscount"

'.a)Rs 243 W ' b)Rs e ©)Rs.230- . . . d)Rs 250
10. The number of converslon penods ina year 1f the mterest ona pnnctpal is compounded every two
.+ +" months is ......, TR . . _ ; L .
el o DESERSEE 96 e ey 10) 1D
'.'ll;mtheﬁgure,whchofthe i
-+ following statements_ is trus? c :
. "¢)AC=CD . d)BC=CD
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12. The_hypo,tepusc_dfa right anglet"l triangle of sides 12 am and 16 cm e

‘@28em T B)2Wem B 9 24 om o d)2lem’
13, How many oulcomes can you get when you toss three coins once? ; :
a6 .. . wsc SRR - IR a9z
_ 14. How many 2 digit number$ contain the number 7?7 ‘ 3 ; " \ K
a) 10 . b)18 B9 d) 20
i 15, measumments need to drawaquadn]ateral .‘ s ; e A
B 4 Lo 6 e s )T
- IL Fininmeblanksq T T TR TR - o
16. The rational number .............. .. does not have a reciprocal.. - - . ’ gl
"17.For @ #.0, a°%is o 5
18. The longest chord ‘of a circle is ' .. e 5
19. Loss or gain percentage is always ca]culated on the
20 - X -axis and y-axns intersect at ) e
I, Match the followmg “ Sais o B s . L 3Xl=s
21. Square of 7 . ;rrzsq umts : T R R
2.amxs 7 —‘_-12y ‘
23. A.reaofclrclc i h ¥_Iquadrant_ =y o Pl i .f.. DA T
-0 R b RO R T COR I, £
25.(5,7) sCIRE BICS TR P e TR

IV. Say true orfalse. e B s B 2 e G g o SrleEs
. 26. The average of two ratncmal numbers hes betweenthem ‘_ JE e :
27. T’hesquareof751s4925 sty TR et ty h
98 M en =g R

o 29 In a right angled tnangle the hypotenuse is the greatest snde

) ) 30. (3, 7) is lies in th1rd quadrant i o -

V. Answef any ten qugstmns. £ R Kt o PR e " '_iox_2=20:‘

" 31. Compare 4 and ¢ .

' -6 8 =2 ‘ 3
‘32, Add: 2 I 11-
33 Find the square of 203. '

© 34. 15 400 a perfect cube?” .
) L o 9 .30
35. Evaluate : (3 lya2457%
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36. Find the aren of the sectors wiwse length of the arc is 48m'and the radius i3 10.:
- 37 Fmd t.he product of 2x2y ,3p%z and =gy ey o
38 48 is 32% of which number?

*. 39, Find the difference in cumpuund mterest and simple interest for prmclple amount is Rs. 5000 and
" rate of i mterest is 4%, )

" 40, State Pythagoras theorem. ; ot

" 41. Shanthi has 5 chudithar sets and 4 fmcks In how many poss1ble ways, can she wear enher a
chudithar ot a frock? )

42 In which quadrant lies the points (-7, 2) (+10, -2)

VI Answeranyﬁquestmns.‘ i M - < . 6x5<30

-5 —-ll —'15 -1 12
43, Al‘ﬂ-ﬂgﬁ the following mhonal numbers in ascendmg order 1—2‘ 24 _9 36

4, Fmd the square root of 1764 by using long dwmcm miethod.
_ 45. A circle of radius 120m is dwlded into 8 equal sectors. Find the length of the are of each of the sectors.

46 Fmd the perameter and ‘area of the following ﬁgure

. ?.m

L S A T
i 47 Dmde (Sy--25y +8y) bySy ,

48, Fmdtheproductof (2x+3) (2x-4)". PhE : S AR Wty

i 49 if a car is sold for Rs. 200000 from its ongmal pnce uf Rs. 300000 then find the percentage of decrease
: mthevalueofthccar L e, =

= Fmd the unknowns in the followmg ﬁgure

51 Ca.n a rlght manglc have sides that measure 5 cm, 12 cm und 13 cm‘?
5 52 Ini class VIII a math club has four members M,A,T and H. Find the number of different ways, the club
. can elect..
~i)a 1eader, :
. 11) a leader and an asmstant leadr:r

R
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VIl, Answer any one of the following : ' 1x10=10
53, Construct n quadrilateral DEAR with DE=6 cm,, EA=% ¢m, AR 8,5 cm. RDD=5.2 cmn. and DA=10 cm .
Also find its area,
) (or)
" Construct the tollowing trapezium with the given measures and alwo find their area AIMS with |
A7 1 SM Al=6cm, IM=5cm. AM =9 cm and MS=6,5¢m,

VIIL. Answer any one of the following T 1x10=10
54, Plot the following points in & graph sheet, ‘ . + :
A (5.2):. B(-7,-3), C(-2,4), D(-1,-1), D(0,-5), F 2,0), G(7,-4), H{-4,0), 1(2,3), J(8,-4).
’ ' (or) 5 ’ -
Draw a straight line by joining the points A(-2,6) and B(4,-3).
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